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Addition of whole numbers = Column Method,

QI
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Subtraction o whole numbers - Column Method,

Qd

38291 9 38291

-18636 -18636
55

Exchange 10 from the 90 to make 11 ones.
Subtract the ones: 11— 6 = 5.
Subtract the tens: 80 ~ 30 = 50.

Place the numbers one on top of the other,
lining up the thousands, hundreds, tens and

ones. Subtract the ones (the answerto 1 -6
is negative).

38291 38291
-18636 -18636
9655 19655

Subtract the thousands (the answer to
7000 - 8000 is negative). Exchange 10 000 Subtract the ten thousands:
from the 30 000 to make 17 000. Subtract 20 000 - 10 000 = 10 000.

the thousands: 17 000 - 8000 = 9000.

345(0)60 =

2}3'u 5
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© .
-18636
655

Subtract the hundreds (the answer to 200 -
600 is negative). Exchange 1000 from the

8000 to make 1200. Subtract the hundreds:
1200 - 600 = 600.

38291
18636
19655 V'

Check your answer.
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Addition and subtraction of decimal numbers = Column Method,
QA3
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3,050,020 = 3,000,000 + :] + 20




Multi

lications method,

Step 2
5x6=20

STEP 1: Multiply Units

| Stent
\ 5x7=35

Add on
the
carried
tens
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STEP 2: Multiply Tens

Carry
the
tens

0(——

Remember
to add a ‘0’

Step 4
dx6=24
""'—-._____ --._______-$ Step 3
Ax7=28
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STEP 3: Add answers
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Add the
UNITS
together

Now do the same with HUNDREDS and THOUSANDS




- long multiplication, method
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5284 =+ 12
n12‘552 8 & 3] L &4

5 &4
5 2 8 4

83

First we divide 5 (thousands) by 12. This 12
gives a result of 0 with a remainder of 5. The
remainder 5 (thousands) is exchanged for 50

hundreds and placed into the hundreds column. Next we divide &8 (tens) by 12. This gives
This is shown by a small 5 in front of the a result of &. The &4 is written in the tens
existing 2 hundreds to make 52 hundreds. position of the answer above the line.

2 4 4 4 &4 0

12‘552"*34 12‘5234

MNext, we divide 52 (hundreds) by 12. This gives MNext, we divide & (ones) by 12. This cannot be
a result of & (hundreds) remainder &. The done, so there are four remaining. A zero is
remainder & (hundreds) is exchanged for &40 placed in the ones answer section as well as
tens and placed into the tens column. This is remainder &.

shown by a small &4 in front of the existing 8
tens to make 48 tens. The & is written in the

hundreds position of the answer above the 5284 = 12 = 440 rl,.



Division of a number giving o decimal answer (short dinision)
QIO
5286 + 12

n n < B 4 4

125 2 8 6 1205 °2 ‘8 6 1225 28 6

First, divide 5 (thousands) by 12. This gives Nexct, divide 52 (hundreds) by 12. This gives Next, divide 48 (tens) by 12. This gives a result
a result of 0 with a remainder of 5. The a result of 4 (hundreds) remainder 4. The of &. The & is written in the tens position of
remainder 4 (hundreds) is exchanged for 40 the answer above the line.

remainder 5 (thousands) is exchanged for

50 hundreds and placed into the hundreds
column. This is shown by a small 5 in front of
the existing 2 hundreds to make 52 hundreds.

tens and placed into the tens column. This is
shown by a small & in front of the existing 8
tens to make 48 tens. The & is written in the
hundreds position of the answer above the
line.

ﬂ 4 4 0 B 4 4 0. 5 n

5286 + 12 = 440.5

5 4 6
5 2 8 6. 0

5 4 6
12‘5286.0 12

Next, divide 6 (ones) by 12. This cannot be Next, divide 60 (tenths) by 12. This gives
done. This gives a result of 0 with a remainder a result of 5. The 5 is written in the tenths
of 6. Extend the number being divided to show position of the answer above the line.

the tenths place. The remainder 6 (ones) can
now be exchanged for 60 tenths and placed
into the tenths column. This is shown by a
small & in front of O tenths to make 60 tenths.
Remember to place the decimal point in your
answer section.
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591 = 12

Work out the answer to two decimal places.

answer section

4
12|/5 9 1
4 8
1 1 1
answer section
4 9
12|/5 9 1
4 8 |
1 1 1
1 0 8
3
answer section
4 9 .
12/5 9 1 .00
4 8 |
1 1 1
1 0 8
3.0

First, work out how many 12s

there are in 59. The answer to this
question is &, which is written above
the 9. We then write the product of
4 and 12 (48) under 59 and subtract
giving 11. The 1 is then brought
down and written next to 11 to make
111.

Mext, work out how many 12s

there are in 111. The answer to this
question is ¥, which is written abowe
the 1. Then, write the product af 9
and 12 (108) under 111 and subtract
it, giving 3.

Extend 591 into decimals to continue
the process of long division.

The O in the tenths place is then
brought down and written next to 3
to make 30.

answer section

4 | 4 9 .2
12/5 9 1.00
4 8
1 1 1
1 0 8
3.0
2 . 4
6 0
answer section
B 4 9.2 5
12/5 91.00
4 8 |
1 11
108 |
3.0
2 . 4
6 0
6 0
0

Mext, work out how many 12s

there are in 30. The answer to this
question is 2, which is written above
the O in the tenths place. Then,
write the product of 2 and 12 (24)
under 30 and subtract it, giving 6.
The @ is then brought down and
written next to & to make 60.

Next, find out how many 12s there
are in 60. The answer to this
question is 5, which is written above
the @ in the hundredths place. Then,
write the product of 5 and 12 (60)
under 60 and subtract it, giving
zero.

591 + 12 = 49.25
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Ordering Mathematical Operations
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7% of 500 =

148 ([Boo+:ioo)
e 1x7 .

77235  (5x7)

35

The word percent comes from the Latin words per and cent
meaning ‘out of every 100'. The symbol for percent is %.

15% x 1,000 =
X eans ‘of’
1 57 of l1looo
1.0 ) =] B[O (looo+ 10)

+Q 5/ :50;)* (lOO%Z)

| 50

| &Y= 180
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Add, and, subtrach fractions with, different; denominators
Ql7 & 18
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X 5 30 & unless Soted.
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(&g | x o7 = 357) and thery %2 of the number (e.g. 72 % 57 = &8.9). Finally, add the two totals
together (e.g. 57 + A8.5 = 835.5)
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Dvide av fraction by arv integer
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This doesn't have to be sumplfiad
—only  gwe one answer s




